SIMONTON"

W I N D O W §

Z

1 COCHRANE AVE. PENNSBORO, WV 26415 PH.
800—-426-2249

STORMBREAKER PLUS 500VL
IMPACT RESISTANT VINYL
HORIZONTAL ROLLER WINDOW

GENERAL NOTES:

1. THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO
COMPLY WITH THE 7TH ED. (2020) FLORIDA BUILDING
CODES, INCLUDING THE HIGH VELOCITY HURRICANE ZONE.
2. BASED ON LABORATORY TESTING, THIS PRODUCT IS
COMPLIANT WITH TAS 201/202/203 FOR LARGE MISSILE
IMPACT PERFORMANCE. SHUTTERS ARE NOT REQUIRED.
5. GLAZING AS INDICATED HEREIN COMPLIES WITH ASTM E
1300.

4. HIGH QUALITY SILICONE CAULK SHALL BE USED
AROUND ENTIRE WINDOW PERIMETER, INSIDE AND OUT, BY
INSTALLER.

5. WOOD BUCKS (BY OTHERS) MUST SUSTAIN ALL
IMPOSED LOADS. THE CONTRACTOR IS RESPONSIBLE FOR
MAINTAINING WINDOW OPENING AND ALL WOOD FRAMING
AROUND WINDOW. WOOD BUCKS, BY OTHERS, MUST BE
PROPERLY ANCHORED TO TRANSFER LOADS TO THE
STRUCTURE AS APPROVED BY THE AUTHORITY HAVING
JURISDICTION.

6. SEALING AND FLASHING STRATEGIES FOR OVERALL
WATER INFILTRATION RESISTANCE OF INSTALLED PRODUCT
ARE THE RESPONSIBILITY OF OTHERS.

7. ALL FASTENERS PENETRATING INTO PRESSURE TREATED
WOOD SHALL BE CAPABLE OF PREVENTING CORROSION
DUE TO REACTION WITH PRESSURE TREATMENT
CHEMICALS.  ANY DISSIMILAR MATERIALS THAT COME INTO
CONTACT SHALL BE PROTECTED TO PREVENT GALVANIC
REACTIONS IN ACCORDANCE WITH CODE REQUIREMENTS.
8. A WINDLOAD DURATION FACTOR Cd = 1.6 WAS USED
FOR THE ANALYSIS OF WOOD SCREWS ONLY.

TABLE OF CONTENTS

SHEET # DESCRIPTION

GENERAL NOTES & TYPICAL ELEVATIONS

VERTICAL CROSS SECTIONS (1X & 2X BUCKS)

HORIZONTAL CROSS SECTIONS (2X BUCK) & MEETING RAILS

HORIZONTAL CROSS SECTIONS (1X BUCK)

ANCHORING LOCATIONS & GLAZING DETAILS

OO |WNIN|—

COMPONENTS & BILL OF MATERIALS

FL 163589

Ri:v' REVISIONS: REVISED BY| DATE:
MODELS ARE VIEWED FROM THE EXTERIOR 1 | UPDATED FOR 5TH ED. (2014) FBC LAT 4/27/2015
2 |UPDATED GLAZING DETAILS WITH SPACER. LMH | 03/20/17
3 |UPDATED FOR 6TH ED. (2017) FBC LAT  |9/05/2017
4 |UPDATED FOR 7TH ED. (2020) FBC LMH  [11/04/2020
73" OVERALL 737 OVERALL
FRAME WIDTH FRAME WIDTH
31.958”" 31.958” 31.958” 31.958"
~— MAX. —=~— MAX. — ~— MAX. —=~— MAX. —
D.L.O. D.L.O. D.L.O. D.L.O.
D D
. 3z )
<0 é <O é
o= = E= =
= _o i N 0 (2 = s 0 X AN
2 ?: S% O — H . <§( ?’g =) ———— s
+ 3/ (3N & NEV SIANEY AN | PN NEV
\ | N \ | N
oD D
DESIGN PRESSURE RATING | IMPACT RATING DESIGN PRESSURE RATING | IMPACT RATING
+50.0 PSF —50.0 PSF | LARGE MISSILE +50.0 PSF —-50.0 PSF | LARGE MISSILE
wittidey,
\\\\:séhsk TUR,‘;;;/, SIZE:DRAWING NO.:  [REV.:
SRS I, ., °'B| _DAOQIZ | 4
> /‘_\cﬂl;‘e N 11/04/2020 9 %IMNOID\I :)FOWI\l DRAWN BY: |DATE:
Lucas Turner s* %, *‘: LUCAS A. TURNER, P.E. T.D.D. 05/1 3/13
=/ No.58201 ‘.= FL PE # 58201 1 Cochrane Avenue CHECKED BY:|DATE:
2020.11.12 5"’; '* = TURNER ENGINEERING & Pennsboro, WV 26415
11:51:53 '-_3_3‘ ’:Z jgf C&%SAU;‘T";S};';)Q SCALE: SHEET: APPRVD BY: |DATE:
S Z A\, STATEOF ;{?é" 2428 OLD NATCHEZ TRACE fsrmes: i [ of 8
-06'00 Z) % "‘(oml‘:@-j’b\s‘ TR D o e 20 STORMBREAKER PLUS 300VL HORIZONTAL ROLLER
%2, el o ’ TITLE:
”J;E"AL“\\\\\ GENERAL NOTES & TYPICAL ELEVATIONS

FHHTTTY

¥



3/4" MIN.

EDGE DISTANCE

CONCRETE /MASONRY
(BY OTHERS)

11/2” MIN.
EMBEDMENT

SILICONE CAULK

(EXT. PERIMETER)
(o9—,

™~—2X WOOD BUCK

| #10 PH WOOD SCREW
INSTALLATION ANCHOR

[ | ]
- SILICONE CAULK
(LS
1a (INT. PERIMETER)
1/4” MAX.
(1) #10 x 27 o SHIM STACK
WOOD SCREW ”
THROUGH
L—BRACKET
l
<% 5 1 3
— 3 : : i 9
5 Z 1]
L R
T L L 2 L L
LW ~ | _ ~ | _
s EXTERIOR ﬂ‘\ ﬂ INTERIOR
<
1
i 3 ‘ ] :
- — 3
9
11 { 9
7
7 zZ
= Ll
[ #10 PH WOOD SCREW = 2
INSTALLATION ANCHOR < Wl
F‘ =>
Jo— SILICONE CAULK —
LR (INT. PERIMETER)

SILICONE CAULK ./u
(EXT. PERIMETER) @ }

~___1/4” MAX.

SHIM STACK
~~__ 2X WOOD BUCK
(BY OTHERS)

MASONRY /CONCRETE

A

A <

3/4” MIN.

(BY OTHERS)

EDGE DISTANCE

/ 1\ VERTICAL CROSS SECTION (2X BUCK)

\_2/ HEAD WITH STEEL REINFORCEMENT

FL 163589

/ 2\ VERTICAL CROSS SECTION (1X BUCK)

\.2/ HEAD WITH STEEL REINFORCEMENT

SILICONE CAULK

(INT. PERIMETER)

SILICONE CAULK
(EXT. PERIMETER)

1a

(1) #10 x 2 []w QP Bﬂ

1/4” MAX.
SHIM STACK

WOOD SCREW
THROUGH
L—BRACKET

3 ‘ -

FRAME HEIGHT —"\_-

R (S

2 R M
EXTERIOR }I ]

~ | _
E INTERIOR
11

Ri:v' REVISIONS: REVISED BY{ DATE:
1 | UPDATED FOR 5TH ED. (2014) FBC LAT  |4/27/2015
2 | UPDATED GLAZING DETAILS WITH SPACER. LMH 03/20/17
3 | UPDATED FOR 6TH ED. (2017) FBC LAT  |9/05/2017
4 |UPDATED FOR 7TH ED. (2020) FBC LMH  [11/04/2020
NOTES:

1. REPLACE ONE L—-BRACKET SCREW
WITH A #10 X 27 INSTALLATION SCREW.

(APPROX. 1 3/4” FROM CENTERLINE)
2. APPLY CAULK AROUND SCREWS AT

THE SILL.

3. SHIMS SHALL BE A "RIGID/STIFF”

MATERIAL, PLASTIC OR METAL.

SHIMS

MUST BE USED WHEN GAP OF GREATER

THAN 1/167 BETWEEN FRAME AND
OPENING IS PRESENT AT THE ANCHOR

LOCATION. MAX. SHIM STACK =
4. ONLY MIAMI-DADE COUNTY

1/47,

APPROVED CORROSION RESISTANT

FASTENERS AND ELCO ULTRACON

FASTENERS SHALL BE USED. WINDOW

INSTALLERS SHALL FOLLOW ALL
MANUFACTURER’'S INSTRUCTIONS.

5. WOOD SHALL BE SPRUCE—-PINE-FIR
MIN. WITH G=0.42 MIN. MASONRY

SHALL BE 2 KSI MIN. CONCRETE
ASTM C90 CMU (117 PCF MIN.)

MASONRY /CONCRETE
(BY OTHERS)

OR

@9\ >
11 ( 9
7/ (
7/
e -
U 1/4” MAX. zZ0
<:>\?>r SHIM STACK =4g
) SILICONE CAULK %O
[ N
c==3 (NT. PERIMETER) >
T .
SILICONE CAULK [ 1X WOOD BUCK — Wl %
(BY OTHERS) =
3/16”¢ ITW TAPCON 2 1/27 MIN.
INSTALLATION ANCHOR ~—— EDGE DISTANCE ——
TYP, HEAD /SILL
\\\H““Hu,
\\\\\QGP‘S&-IHRW&;”/, . [SZEPRAWING NO..  [REV:
NIPLDS 11/04,/2020 P SIMONTON" | B L DACO1Z | 4
S . *‘-'; LUCAS A. TURNER, P.E. 2 v oo owos TDD. | 05/13/13
S / No.58201 ‘\ - FL PE # 58201 1 Cochrane Avenue CHECKED BY-IDATE:
__-:'l!g '* il€=  TURNER ENGINEERING & Pennsboro, WV 26415 ' '
-'..:.3‘ ’:Z jgf C&%SAU;‘T";S};';)C’ SCALE: SHEET: APPRVD BY: [DATE:
Z A\, STATEOF "35‘- 2428 OLD NATCHEZ TRACE fsrmes: AT 2of 8
"f,, “oper L0 TRAF',':' CéAMD_Eng,OT_Iﬂ;;E‘&SZO STORMBREAKER PLUS 300VL HORIZONTAL ROLLER
%, TR : TITLE:
I’ y 7 "ALi\\ N VERTICAL CROSS SECTIONS




SILICONE CAULK
(EXT. PERIMETER)

S EXTERIOR
Vol ; e
Y
Chuaim
v \
v KT D #10 PH WOOD SCREW
> ; INSTALLATION ANCHOR
"
g { 2
9
v
v
<
. § (
v e
o e B | — 11
N —
N 6
L > \ ,‘
2 g 1/4” MAX. SHIM STACK
== g SILICONE CAULK (INT. PERIMETER)
)
:i@ . \2>< WOOD BUCK (BY OTHERS)
L
”o 7 FRAME WIDTH
Y 1.1/2” MIN. EMBEDMENT
\MASONRY/CONCRETE (BY OTHERS) INTERIOR
m HORIZONTAL CROSS SECTION (2X BUCK)
\3/ FIXED JAMB WITH STEEL REINFORCEMENT
NOTES:

1. SHIMS SHALL BE A "RIGID/STIFF” MATERIAL, PLASTIC OR METAL.

SILICONE CAULK
(EXT. PERIMETER)

EXTERIOR .
v
1a ; N
v
> ( S @
9 I <
= 0 ———< v
( . |
N
7 | v
e ]
11 < ¥
3 v
16
#10 PH WOOD SCREW ;
INSTALLATION ANCHOR y
C v ¥
——Docec—Do 4
/ : .
1/4” MAX. SHIM STACK v 2
=
SILICONE CAULK (INT. PERMETER)/ v 5%
2X WOOD BUCK (BY OTHERS) a :iﬁ
Lt
FRAME WIDTH v "o
11/2” MIN. EMBEDMENT < -

INTERIOR

m HORIZONTAL CROSS SECTION (2X BUCK)

\.3/ OPER. JAMB WITH STEEL REINFORCEMENT

SHIMS MUST BE USED WHEN

GAP OF GREATER THAN 1/16” BETWEEN FRAME AND OPENING IS PRESENT AT THE ANCHOR

LOCATION.

MAX. SHIM STACK =

1/4”

2. ONLY MIAMI-DADE COUNTY APPROVED CORROSION RESISTANT FASTENERS AND ELCO ULTRACON
FASTENERS SHALL BE USED. WINDOW INSTALLERS SHALL FOLLOW ALL MANUFACTURER’S

INSTRUCTIONS.

5. WOOD SHALL BE SPRUCE—PINE—FIR MIN. WITH G=0.42 MIN.

CONCRETE OR ASTM C90 CMU (117 PCF MIN.)

FL 163589

MASONRY SHALL BE 2 KSI MIN.

iy,

WL A Tups iy
\\\\\,\50&2,...- ..... }2415 "/,

Ri:v' REVISIONS: REVISED BY{ DATE:
1 | UPDATED FOR 5TH ED. (2014) FBC LAT  |4/27/2015
2 | UPDATED GLAZING DETAILS WITH SPACER. LMH 03/20/17
3 | UPDATED FOR 6TH ED. (2017) FBC LAT  |9/05/2017
4 |UPDATED FOR 7TH ED. (2020) FBC LMH  [11/04/2020

A

HORIZONTAL CROSS SECTION

\_3 /MTG. RAILS WITH STEEL REINFORCEMENT

o
11,/04,/2020 9 %IMNOID\I :)FOWI\l
LUCAS A. TURNER, P.E.
FL PE # 58201 1 Cochrane Avenue

TURNER ENGINEERING & Pennsboro, WV 26415

SIZE:DRAWING NO.:
B DAOO12 4

REV.]

DRAWN BY:
T.D.D.

DATE:

05/13/13

CHECKED BY: [DATE:

CONSULTING, INC. SCALE.

SHEET:
(COA # 29779) AT EE

3 of 6

APPRV'D BY: [DATE:

2428 OLD NATCHEZ TRACE IsrgiFs:
TRAIL, CAMDEN, TN 38320 -
PH. 941-380-1574

STORMBREAKER PLUS 300VL HORIZONTAL ROLLER

TITLE:

HORIZONTAL CROSS SECTIONS (2X WOOD BUCK)




SILICONE CAULK
(EXT. PERIMETER)

74
\
VP

R @

EXTERIOR

3/16”% ITW TAPCON
INSTALLATION ANCHOR

{ 2

===
~ArA
v @ IRl
. v A
v ] _
7 == O
. < U
™
<
v

—_—
i
N

L 7
. O
Z =z
= <
2; b
~N A v
N
(\18 v
0 >

N
T
{

L

|

1 1/47 MIN. EMBEDMENT

il

— 11
6

{

" MAX. SHIM STACK

1/4
\SLCONE CAULK (INT. PERIMETER)

\TX WOOD BUCK (BY OTHERS)

FRAME WIDTH

™ MASONRY /CONCRETE (BY OTHERS)

INTERIOR

/3™ HORIZONTAL CROSS SECTION (1X BUCK)

\.3/ FIXED JAMB WITH STEEL REINFORCEMENT

NOTES:

1. SHIMS SHALL BE A "RIGID/STIFF” MATERIAL, PLASTIC OR METAL.

SHIMS MUST BE USED WHEN

GAP OF GREATER THAN 1/16” BETWEEN FRAME AND OPENING IS PRESENT AT THE ANCHOR

LOCATION. MAX. SHIM STACK =

1 /4"

2. ONLY MIAMI-DADE COUNTY APPROVED CORROSION RESISTANT FASTENERS AND ELCO ULTRACON
FASTENERS SHALL BE USED. WINDOW INSTALLERS SHALL FOLLOW ALL MANUFACTURER’S

INSTRUCTIONS.

5. WOOD SHALL BE SPRUCE—-PINE—FIR MIN. WITH G=0.42 MIN.

CONCRETE OR ASTM CS0 CMU (117 PCF

FL 163589

MIN.)

MASONRY SHALL BE 2 KSI MIN.

EXTERIOR

Ta ;
(

Far- 12

2SI |

@ b
N v
== T —

Ri:v' REVISIONS: REVISED BY{ DATE:
1 | UPDATED FOR 5TH ED. (2014) FBC LAT  |4/27/2015
2 | UPDATED GLAZING DETAILS WITH SPACER. LMH 03/20/17
3 | UPDATED FOR 6TH ED. (2017) FBC LAT  |9/05/2017
4 |UPDATED FOR 7TH ED. (2020) FBC LMH  [11/04/2020

SILICONE CAULK
(EXT. PERIMETER)

v <
qﬂ

| J

17

(s

3/1679 ITW TAPCON
INSTALLATION ANCHOR

==9

1/4” MAX. SHIM STACK

SILICONE CAULK (INT. PERMETER)/

FRAME WIDTH

INTERIOR 1 1/4” MIN. EMBEDMENT

pal
<
_—

2 1/2” MIN.
EDGE DISTANCE

<l
Ya)
f-———————

/4™ HORIZONTAL CROSS SECTION (1X BUCK)

\.3/ OPER. JAMB WITH STEEL REINFORCEMENT

iy,

WL A Tups iy
\\\\\,\50&2,...- ..... }2415 "/,

11,/04,/2020
LUCAS A. TURNER, P.E.
FL PE # 58201

F/
TURNER ENGINEERING &

W I N D O W S
1 Cochrane Avenue

Pennsboro, WV 26415

SIMON TON"

SIZE:[DRAWING NO.:

REV.]

B DAOO12 4

DRAWN BY:
T.D.D.

DATE:

05/13/13

CHECKED BY: [DATE:

CONSULTING, INC. SCALE.

SHEET:
(COA # 29779) AT EE

4 of 6

APPRV'D BY: [DATE:

2428 OLD NATCHEZ TRACE IsrgiFs:
TRAIL, CAMDEN, TN 38320 -
PH. 941-380-1574

STORMBREAKER PLUS 300VL HORIZONTAL ROLLER

TITLE:

HORIZONTAL CROSS SECTIONS (1X WOOD BUCK)




Ri:v' REVISIONS: REVISED BY{ DATE:
1 |UPDATED FOR 5TH ED. (2014) FBC LAT  |4/27/2015
#10 X 2”7 WOOD SCREW 2 | UPDATED GLAZING DETAILS WITH SPACER. LMH 03/20/17
INSTALLATION ANCHOR HARDWARE ANCHOR 3 | UPDATED FOR 6TH ED. (2017) FBC LAT 9,/05/2017
FIXED SASH 4 |UPDATED FOR 7TH ED. (2020) FBC LMH  [11/04/2020
MEETING RAIL ¢ FRAME .
1 3/4” (THROUGH N 4 / ‘ f /
L—BRACKET) T / \ / /
- o (& Jl l % g L—BRACKET
. 3" 3" . |
~ & - T ~ 5 -
I (RS L [ O
. : 1 : - :
o —— s =
_ ——— 0 oo
« T ) 3
| | Emﬁ i |
IE Ic / / \ //
G G
-3 - S -~ 1 750 —» #10 \,/,\/OOD SCREW OR
S I | I OPER. SASH 3/1679 ITW TAPCON
MEETING RAIL 3.000 INSTALLATION ANCHOR
i E— Mo 1 SECTION A—A
L-BRACKET DETAIL
| | . o
0 ¥9) — & ~1/8" TEMPERED
? i HBEER [ ? AIR SPACE
] 5’ }« 3” ‘ ‘ ‘ 5” 4’{ 5, — )
\»‘ \ 1/8” ANNEALED
3”7 |~— [~
— 37 I —~—0.105" SOLUTIA /SAFLEX PVB
\~1/8" ANNEALED
ANCHOR LAYOUT 062%L’J’ANEX SUPER SPACER
737 x 54”7 HORIZONTAL ROLLER GLASS BITE
GLAZING DETAIL
WITH SOLUTIA /SAFLEX LAMINATE
NOTES:
1. WHEN ANCHORING WINDOW TO A 2X WOOD BUCK, USE #10 SCREWS OF SUFFICIENT LENGTH
TO ACHIEVE A MINIMUM OF 1 1/2” EMBEDMENT INTO THE WOOD.
2. WHEN ANCHORING WINDOW TO A 1X WOOD BUCK AND MASONRY/CONCRETE, USE 3/167¢
ITW TAPCON ANCHORS OF SUFFICIENT LENGTH TO ACHIEVE 1 W/4” MINIMUM EMBEDMENT \\\\mll]!lu,,/
INTO THE MASONRY/CONCRETE. \\\‘\3053’:,_,_{{@5*’/, . [SZEDRAWING NO..  [REV
3. SEE SHEETS 2 THROUGH 4 FOR ADDITIONAL ANCHORAGE INFORMATION. -S‘/..\ce"*;\. /f:, 11/04/2020 9 %IMNOID\I;FOWIE DEAWN BDY:AOS/1T2E: -
_-;::*: ", *= LUCAS A. TURNER, P.E. T.0.D. 05/13/13
S/ No. 58201 %= FL PE # 58201 I Cochrane Avenue CHECKED BY:|DATE:
= ;’ Em: TURNER ENGINEERING & Pennsboro, WV 26415
:g‘ Z.*Z jgf CONSULTING, INC. SCALE: SHEET: APPRV'D BY: [DATE:
=0: -~ (CoA # 29779) FIT 5 of 6
~ N iTA'I'EOF ,-5}*5" 2428 OLD NATCHEZ TRACE [semiEs:
- 73 (CONES TRAIL, CAMDEN, TN 38320 - T
FL 16389 /"'/,alo 933“@3@\ PHL 041-380-1574 WLE:S ORMBREAKER PLUS 300VL HORIZONTAL ROLLER
’0,,,”‘_\-:“\\\ ANCHORING LOCATIONS & GLAZING DETAILS
T




BILL OF MATER\ALS R;\/ REVISIONS: REVISED BY: DATE:
ITEM # DESCRIPTION MANUFACTURER 1 |UPDATED FOR 5TH ED. (2014) FBC LAT 4/27/2015
7a | SLO901S VINYL FRAME (HEAD/JAMB/SILL) SIMEX, INC. 2 |UPDATED GLAZING DETA‘(LS W‘)TH SPACER. LMH 0/3/2/0/W7
b | SL1101S VINYL FRAME WITH FLANGE SIMEX, INC. 3 |UPDATED FOR 6TH ED. (2017) FBC LAT  |9/05/2017
1c | SL1201S VINYL FRAME WITH NAILING FIN/J—CHANNEL | SIMEX, INC. 4 |UPDATED FOR 7TH ED. (2020) FBC LMH  |11/04/2020
2 BV18 VINYL GLAZING BEAD FOR 1”7 I.G.U. SIMEX, INC.
3 SL75S VINYL COMMON SASH SIMEX, INC. -
4 SL74S VINYL KEEPER SASH SIMEX, INC. H
5 SL77S VINYL LOCK STILE SIMEX, INC. H H
6 SL79S VINYL PULL STILE SIMEX, INC. G 4H S
7 V355 VINYL HEAD/SILL TRACK INSERT SIMEX, INC. H Q H S D ©
8 6063—T5 ALUMINUM L—BRACK (HEAD/SILL) TRUTH G 0 9 G v > K // N
9 SIMRECT1 GALVANIZED STEEL REINFORCEMENT HYGRADE ﬁ // I N H\
10 | SIMRECT2 GALVANIZED STEEL REINFORCEMENT HYGRADE ] —
11 | 896—HIS GLAZING COMPOUND PECORA - —
12 | OFFSET FINSEAL WEATHERSTRIPPING AMESBURY ‘ 3 946 ‘ /—‘ e | 3.167
13 | 0.250” FINSEAL WEATHERSTRIPPING AMESBURY : ! I
14 1 0.340” FINSEAL WEATHERSTRIPPING AMESBURY
- SLO901S SLT101S
o T VoL PRESS FIT BUMPER S10PS o (9 HoRiZONTAL ROLLER FRAME HORIZONTAL ROLLER FRAME WITH (10 HORIZONTAL BOLLLR FRAME WITH
0.079” EXT. WALL THK. § FLANGE NAILING FIN & J—CHANNEL
0.060” INT. WALL THK. 0.079" EXT. WALL THK. 0.079” EXT. WALL THK.
0.060" INT. WALL THK. 0.060" INT. WALL THK.
(QV
M < 1 . - __
©
(@)

——
——
0.688

4 0

47 &0 T

f Pmszx» f !»«534% bl 1950 ? !»“334»4 Fw.648

1.207
il
L L

1.956

1.207

1.956

1.207 =

]
|

1.956

1.207

il
1.956

- 0.542

——1.719 —— ~ 2174 —
@) V355
@ BV18 ®© SL75S @ SL74S © SL77S ® SL79S IRACK INSERT
GLAZING BEAD COMMON SASH KEEPER SASH LOCK STILE PULL STILE 0.079° WALL THK.
0.059” WALL THK. 0.079” EXT. WALL THK. 0.079” EXT. WALL THK. 0.079” EXT. WALL THK. 0.079” EXT. WALL THK.
0.059 INT. WALL THK. 0.059 INT. WALL THK. 0.059 INT. WALL THK. 0.059 INT. WALL THK.

i b J= | | | |
(82} (o))
™~ ™~
g g § @ OFFSET FINSEAL @ 0.250" FINSEAL 0.340” FINSEAL @ 0.460” FINSEAL
WEATHERSTRIPPING WEATHERSTRIPPING WEATHERSTRIPPING WEATHERSTRIPPING
f 0.649 t —F0.746
\\nnllln;,f/
@ SIMRECTI SIMRECT? \\\\\\sc,hi’:ﬂ{%%’/,/ . [SZEPRAWING NO..  [REV:
L DIVINL A 1 £ T DAOQ12 3
RAIL/STILE REINFORCEMENT LOCK RAIL REINFORCEMENT §%"°""“~f’% difosaez 9 SIMONTON" |51 DACOLZ
0.036 GALV. STEEL 0.036” GALV. STEEL S *Z FL PE 4 58201 I Cochrane Avenue o 13N
e No. 58201 = # CHECKED BY: [DATE:
=3 1= TURNER ENGINEERING & Pennsboro, WV 26415
=8 ’:*Z = CONSULTING, INC. SCALE: SHEET: APPRVD BY: |DATE:
-_-.% LS (CoA # 29779) AT 6 of 6
29, T &5 BAE e e
FL W6389 /,,, e (mw‘@.f \\Q PI"L 941—3é0—1574 — STORMBREAKER PLUS 300VL HORIZONTAL ROLLER
- ”J[ENAL“\\\\\ ' BILL OF MATERIALS AND COMPONENTS




		2020-11-12T11:51:53-0600
	Lucas Turner




